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QUESTION 1

In privatization, the government relies on the private sector to provide a service. However, the government divests itself
of the entire process, including all assets. With privatized functions, the government may specify quality, quantity, and
timeliness requirements, but it has no control over the operations of the activity. Also, the government may not be the
only customer. Whoever the government chooses to provide the services would likely provide the same services to
others. 

This paragraph best supports the statement that __________. 

A. the government must closely supervise privatized functions 

B. privatized functions consist of a mixture of government employees, military personnel, and private contractors 

C. privatized functions are those institutions that provide services only to a government agency 

D. privatized functions provide essential services to the government 

Correct Answer: D 

Explanation: Privatized functions operate independently of the government, making Choices "the government must
closely supervise privatized functions" and "privatized functions consist of a mixture of government employees, military
personnel, and private contractors" incorrect. The passage states that privatized functions may sell goods and services
to other customers as well as the government, so Choice "privatized functions are those institutions that provide
services only to a government agency" is also incorrect. Choice "privatized functions provide essential services to the
government" is the correct answer, as privatized functions do perform essential services to government agencies. 

 

QUESTION 2

University of British Columbia (UBC) researchers have discovered a unique nerve structure in the mouth and tongue of
rorqual whales that can double in length and then recoil like a bungee cord. The stretchy nerves explain how the
massive whales are able to balloon an immense pocket between their body wall and overlying blubber to capture prey
during feeding dives. In humans, stretching nerves usually damages them. In these whales, the nerve cells are
packaged inside a central core in such a way that the individual nerve fibers are never really stretched, they simply
unfold. 

From the above passage, the reader can infer that __________. 

A. all whales have stretchy tongues 

B. human tongues can double in length 

C. stretching would not damage a whale\\'s nerve cell fibers 

D. tongue construction is important to these whales’ ability to survive 

Correct Answer: D 

 

 

QUESTION 3
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Each of the 94 federal judicial districts handles bankruptcy matters, and in almost all districts, bankruptcy cases are filed
in the bankruptcy court. Bankruptcy cases can\\'t be filed in state court. Bankruptcy laws help people who can no longer
pay their creditors get a fresh start by liquidating their assets to pay their debts or by creating a repayment plan.
Bankruptcy laws also protect troubled businesses and provide for orderly distributions to business creditors through
reorganization or liquidation. 

Which of the following statements isn\\'t supported by the above passage? 

A. Bankruptcy must be filed in a federal court. 

B. Bankruptcy is designed to help individuals and protect businesses. 

C. Businesses can be reorganized or liquidated through bankruptcy. 

D. Bankruptcy must be filed in the bankruptcy court. 

Correct Answer: D 

Explanation: 

The first sentence states that bankruptcy is usually (not always) filed in bankruptcy court, making Choice 

"Bankruptcy must be filed in the bankruptcy court" an incorrect statement. 

 

QUESTION 4

This is a portion of a position statement by the National Association for the Deaf (NAD) concerning American Sign
Language (ASL): Developments in the field of linguistics and an emerging body of research in education have validated
the historical views of the NAD on ASL and its value in the education of deaf and hard of hearing children. The inherent
capability of children to acquire ASL should be recognized and used to enhance their cognitive, academic, social, and
emotional development. Accordingly, the NAD supports the bilingual approach for deaf and hard of hearing children.
Deaf and hard of hearing children must have the right to receive early and full exposure to ASL as a primary language,
along with English. Studies have shown that when deaf and hard of hearing children are exposed to ASL at an early
age, they are given the opportunity to reach their full potential. 

Within the context of the above passage, which of these most nearly means emerging as it is used in the first
sentence? 

A. moving out 

B. transpiring 

C. coming into view 

D. becoming known 

Correct Answer: D 

 

 

QUESTION 5

In 2013, a gigantic landslide at a Utah copper mine probably was the biggest non volcanic slide in North America\\'s

ASVAB-SECTION-8 VCE Dumps | ASVAB-SECTION-8 Practice Test | ASVAB-SECTION-8 Braindumps                               3 / 4

https://www.leads4pass.com/asvab-section-8.html
https://www.leads4pass.com/asvab-section-8.html
https://www.leads4pass.com/asvab-section-8.html


https://www.leads4pass.com/asvab-section-8.html
2024 Latest leads4pass ASVAB-SECTION-8 PDF and VCE dumps Download

modern history, and included two rock avalanches that happened 90 minutes apart and surprisingly triggered 16 small
earthquakes, University of Utah scientists discovered. The landslide – which moved at an average of almost 70 mph and
reached estimated speeds of at least 100 mph – left a deposit so large it "would cover New York\\'s Central Park with
about 20 meters (66 feet) of debris," the researchers report in the January 2014 cover study in the Geological Society of
America magazine GSA Today. While earthquakes regularly trigger landslides, the gigantic landslide the night of April
10, 2013, is the first known to have triggered quakes. 

From the above passage, the reader can conclude that __________. 

A. the Utah copper mine landslide was the largest ever recorded in the world 

B. the 2013 earthquakes were triggered by a volcano 

C. the landslide was a slow-moving one 

D. scientists would be surprised if another landslide created earthquakes 

Correct Answer: D 
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